Townhouse in Valletta



Reference No: 240471004-286

Valletta, Valletta



€1,300,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): **280**

P☐ Bedrooms: 3

Townhouse - For Sale - Valletta

This one of a kind old Townhouse in the Capital City of Malta, Valletta which is new on the market. It has 4 floors with a total of 56sqm on each floor. Each floor has open views of the 3 cities, Grand Harbor and fort St. Angelo. Nothing beats this view and certified as one of the breathtaking views in the world. Very high ceilings and additional internal floors can be added. Needs renovation.

Features

- ✓ Kitchen/Dinette
- Entrance Hall
- Electricity Utility
- Air Space
- Roof Terrace

- Ceramic Floor
- Water Utility
- Partially Furnished
- Balcony

Rooms

- Hall: 3.1 x 2.8 m (8.68 m2)
- Kitchen: 6.4 x 4.8 m (30.72 m2)
- Double Bedroom : 9.2 x 4.8 m (44.16 m2)
- ✓ Bathroom : 2.4 x 2.5 m (6 m2)
- Kitchen: 7.4 x 4.8 m (35.52 m2)
- Double Bedroom : 4.2 x 4.8 m (20.16 m2)
- Double Bedroom : 4.5 x 4.8 m (21.6 m2)

Gallery



















Anna Cirrincione RE/MAX Luxe - Sliema

M: 99962506

E: acirrincione@remax.com.mt

T: 27992796

RE/MAX Luxe - Sliema

58, Tigne Seafront, Sliema, Malta